
Dif Dif Rang

1 Bayer, Sylke 3 : 0 3 : 0 3 : 1 1 : 3 3 : 0 3 : 0 : 16 : 4 12 5 : 1 4 1.

2 Ermel, Silke 0 : 3 2 : 3 3 : 2 3 : 0 3 : 0 3 : 1 : 14 : 9 5 4 : 2 2 2.

3 Jackwerth, Sascha 0 : 3 3 : 2 1 : 3 3 : 0 3 : 0 3 : 1 : 13 : 9 4 4 : 2 2 3.

4 Ermel, Matthias 1 : 3 2 : 3 3 : 1 1 : 3 3 : 0 2 : 3 : 12 : 13 -1 2 : 4 -2 5.

5 Müller, Stefan 3 : 1 0 : 3 0 : 3 3 : 1 3 : 1 3 : 2 : 12 : 11 1 4 : 2 2 4.

6 Müller, Rupert 0 : 3 0 : 3 0 : 3 0 : 3 1 : 3 1 : 3 : 2 : 18 -16 0 : 6 -6 7.

7 Grünewald, Lukas 0 : 3 1 : 3 1 : 3 3 : 2 2 : 3 3 : 1 : 10 : 15 -5 2 : 4 -2 6.

8 : : : : : : : : :

8 - 1 = :

2 Ermel, Silke - 3 = 2 : 3

4 Ermel, Matthias - 7 = 2 : 3

6 Müller, Rupert - 5 = 1 : 3Müller, Stefan

:

:

1. Runde

Bayer, Sylke

Jackwerth, Sascha

Grünewald, Lukas

Punkte

:

4 5 6 7

Veranstaltung: Vereinsmeisterschaften 2018  A-Klasse

Bezeichnung:

Teilnehmer 1 2 3 8 Sätze



1 Bayer, Sylke - 4 = 3 : 1

5 Müller, Stefan - 2 = 0 : 3

3 Jackwerth, Sascha - 8 = :

7 Grünewald, Lukas - 6 = 3 : 1

6 Müller, Rupert - 1 = 0 : 3

2 Ermel, Silke - 7 = 3 : 1

3 Jackwerth, Sascha - 5 = 3 : 0

8 - 4 = :

1 Bayer, Sylke - 2 = 3 : 0

7 Grünewald, Lukas - 3 = 1 : 3

4 Ermel, Matthias - 6 = 3 : 0

5 Müller, Stefan - 8 = :

Ermel, Silke

Jackwerth, Sascha

Müller, Rupert

3. Runde

Bayer, Sylke

Grünewald, Lukas

Müller, Stefan

Ermel, Matthias

4. Runde

2. Runde

Ermel, Matthias

Ermel, Silke

Müller, Rupert



3 Jackwerth, Sascha - 1 = 0 : 3

2 Ermel, Silke - 4 = 3 : 2

5 Müller, Stefan - 7 = 3 : 2

8 - 6 = :

1 Bayer, Sylke - 5 = 1 : 3

6 Müller, Rupert - 2 = 0 : 3

4 Ermel, Matthias - 3 = 3 : 1

7 Grünewald, Lukas - 8 = :

7 Grünewald, Lukas - 1 = 0 : 3

2 Ermel, Silke - 8 = :

3 Jackwerth, Sascha - 6 = 3 : 0

5 Müller, Stefan - 4 = 3 : 1

Jackwerth, Sascha

Ermel, Matthias

7. Runde

Bayer, Sylke

Müller, Rupert

Ermel, Matthias

Grünewald, Lukas

Müller, Rupert

6. Runde

Müller, Stefan

Ermel, Silke

5. Runde

Bayer, Sylke


